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Trisert your solutions paly in the indicated places

“Question One) Two poink charges (), and (, located at £(1,2,0) and #[2,0,0), respectively,
Find the redation between ) and ), such that the total force on a test charge at the polnt
M-11.0] has na x-component. (6 marks)
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Question Two) Giver, the alectric flux density D = cos/26)a, i
a) Use ane side of the thegrem to find the total charge Within the region
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b) U side of the divergence thearamn to find the total charge within the region
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Question Three) & wire is bent m the form of a half kap (hall cirde in the Upper xy plane) of
radius 3 and cherged with uniform Wine charge density [0/ |, Calouate the electric field
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